(
— > =% = —

AEI L= AHQIR|A ZHE EX|IMY FA AEH MIA| Z &t
=5 dY/HIE oo x|

\ k]

o\ HE MY

ZRMY AR BE BP0 TS WA QA8 A B KNS ¥

= = M5tod otMst MHEtstA &2 = A&t

AE] MM7E UE ZXIMHY BEAos BEAlof 7Mooz = 7Ms8t
MM Q&LICEH 0|2 S8l ZX|MHE EAo| EEJ UEX| R E ™
Aoz =38 £+ &Lch

oE{ A7} AIBElE FR EE5 24
SN P =Y

H2 247 U RAIE E

rr

T AAE

e

Hyo|A BE2 K063801 A =HEIRELICEH

A EH “'A-ISEP 2L HEE ZF_E.=.'EI7<I ole MEl2 MSE LU
SHE I HEO| 2t Y E3: 1.2 Nm.

71= 40| E:

S MAM:

=2 3|2: PNP H447|(NO)
et 10-30V DC
TF <100 mA
27241 mm

ARAE F7]: <3500 Hz
CHef X US
HIMES: QS

> 124 121 1
o ofn ofn J

25 S=:1P67

A 8¥:2mPVC #Holg2
2 bHo| -25°C ~ +70°C
4&9l: CE, c-UL-u, EAC
o|2:

RtMIEt Hate 22 ABAMo Z7IE /o] }&LICH

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 1/4



for electrics

Lol
o
Lo
©
=]
©

A
I

© HEINRICH KIPP WERK GmbH & Co. KG

B MAM7F U ZX|MHY B2 AR E Esste o Metstx| of&
LICE.

EH A%

AS: A5 LEAFA

B&: LIAMA L Z24K| =8
C33: LIAFAF QI A|ZH 2 8}

D&: o g

1) LED
BN = ZM
BK = A&
BU = H4

www.kipp.com - info@kipp.com 2/4



°
| x4 5T —
AR = ARQIR]A 2 EXIMY SA ME) MA Z5
=M
®
T
ol |1 sw2 o r sw2
S r ¥ :
Er= 2 (© [ R ==
g ~ U g
L SW1 H3 H L
‘ H3
© T )
T1
sw2 7 swe r i
‘“ﬁ I ! [
EEERE = RS = EE%. =: | o
8 ]
H3 H
y L
EZS 29
ME| MAT} Qs AR EE AH|QI2|A AR ZXIMY £ A
FEHS EFQJ EEIERT 2 A D D1 D2D3 H H1 H2 H3 L T T1 SW1 SW2
K1839.1031011 A A LEA AEl 3 M10x1 - 3 12 - - 427 7 4 3 5
K1839.1041011 A A LEA AE] 4 M10x1 - 3 12 - - 4271 7T 4 4 5
K1839.1051211 A A LEA AE 5 M12x1,5 - 3 15 - - 427 11 4 5 5
K1839.1061211 A A LEA AE 6 M12x15 - 3 15 - - 427 11 4 6 5
K1839.1081611 A A LEA AE] 8 M16x1,5 - 3 20 - - 427155 6 8 5
K1839.1101611 A A LEA AE 10 M16x1,5 - 3 20 - - 427155 6 10 5
K1839.1122011 A A LEAF AE] 12 M20x1,5 - 3 25 - - 427 19 6 12 5
K1839.1162411 A A LEA AE] 16 M24x2 - 3 32 - - 427 25 8 16 5
K1839.11031011 A A LEA AEQIBA AR 3 M10x1 - 3 12 - - 427 7 4 3 5
K1839.11041011 A A LEA AEHQIYA AR 4 M10x1 - 3 12 - - 427 7T 4 4 5
K1839.11051211 A A LEAL AEQIMA AR 5 M12x1,5 - 3 15 - - 427 11 4 5 5
K1839.11061211 A A LEA AEQIBA AR 6 M12x1,5 - 3 15 - - 427 11 4 6 5
K1839.11081611 A T4 LEA AEQIPA AR 8 M16x1,5 - 3 20 - - 427155 6 8 5
K1839.11101611 A AR LEAL AEQIHA AEl 10 M16x1,5 - 3 20 - - 427155 6 10 5
K1839.11122011 A AR LEAF AEQIBA Al 12 M20x1,5 - 3 25 - - 427 19 6 12 5
K1839.11162411 A T4 LEA AEHQIPA AR 16 M24x2 - 3 32 - - 427 25 8 16 5
K1839.2031011 B LEARAF Bl ZR4X| =8 AES 3 M10x1 - 315 12 105 4 27 7 - 11 5
K1839.2041011 B LIAMAE 2 Z2HK| 28 AE 4 M10x1 - 315 12 105 4 27 7 - M 5
K1839.2051211 B LIAMAE 2 Z2HX| Z 8 AE 5 M12x1,5 - 3 15 12 1055 4 27 11 - 13 5
K1839.2061211 B LEARAF Bl ZR4X| T8 AES 6 M12x15 - 3 15 12 105 4 27 11 - 13 5
K1839.2081611 B LIAMAE 2 Z2HK| 28 AEl 8 M16x1,5 - 3 20 15 13,5 4 27 155 - 17 5
K1839.2101611 B LIAMAE 2 Z2HK| Z 8 AE 10 M16x1,5 - 3 20 15 135 4 27 155 - 17 5
K1839.2122011 B LIAFA S ZR K| 28t AES 12 M20x1,5 - 3 25 20 185 4 27 19 - 22 5
K1839.2162411 B LEARAR Bl ZRHX| 28 AEl 16 M24x2 - 3 32 27 255 4 27 25 - 27 5
K1839.12031011 B LIAMAE 2 Z2HX| Z 8 AEQIPYA AR 3 M10x1 - 3 15 12 105 4 27 7 - 11 5
K1839.12041011 B LIAMAH S ZR K| 28t AEQIBIAAEl 4 M10x1 - 3 15 12 105 4 27 7 - 11 5
K1839.12051211 B LIAMAE 2 Z2HK| 28 AEQIHA AR 5 M12x1,5 - 3 15 12 105 4 27 11 - 13 5
K1839.12061211 B LEARAF ol ZE4X| =8 AEQIMA AE 6 M12x1,5 - 3 15 12 105 4 27 11 - 13 5
K1839.12081611 B LIAFAH S ZRH K| 28t AEQIBA AEl 8 M16x1,5 - 3 20 15 135 4 27 155 - 17 5
K1839.12101611 B LEAAE Bl ZRiX| 28 AEQIYA A 10 M16x1,5 - 3 20 15 135 4 27 155 - 17 5
K1839.12122011 B LEARAF ol Z24X| =8 AEQIBIA Al 12 M20x1,5 - 3 25 20 185 4 27 19 - 22 5
K1839.12162411 B LIAFAH S ZRH K| 28t AEQIBIA AEl 16 M24x2 - 3 32 27 255 4 27 25 - 27 5
K1839.3041211 C LEARAR 2 AIRF 2 Z 8 AE 4 M12x1,5 19 3 16 12 105 4 27 11 4 4 5
K1839.3051211 C LEARAR QI AR 2 23 AE 5 M12x1,5 19 3 16 12 105 4 27 11 4 5 5
K1839.3061211 C LEARAE 21 AIRF 2 28 AES 6 M12x1,5 19 3 16 12 105 4 27 11 4 6 5
K1839.3081611 C LEARAR 2 ARF 2 Z 8 AEl 8 M16x1,5 26 3 20 15 135 4 27 155 6 8 5

© HEINRICH KIPP WERK GmbH & Co. KG

www.kipp.com -

info@kipp.com

3/4



°
| x4 5T —
AEIEE= AHOl2|A Z4E EXMY 24 AEl MA E8t
EZS 29
FEHS EFQJ el EFR] 2 A D D1 D2D3 H H1 H2 H3 L T T1 SW1 SW2
K1839.3101611 [ LEARAR 2 ARF 2 Z 8 AE 10 M16x1,5 26 3 20 15 135 4 27 155 6 10 5
K1839.13041211 C LEARAR S AR 2 23 AEQIBIA AEl 4 M12x1,5 19 3 16 12 105 4 27 11 4 4 5
K1839.13051211 C LEARAE 21 ARF 2 28 AEQIBA AEl 5 M12x1,5 19 3 16 12 10,5 4 27 11 4 5 5
K1839.13061211 c LEARAE 2L AZF 2 23 AEQIPA AR 6 M12x1,5 19 3 16 12 105 4 27 11 4 6 5
K1839.13081611 C LEARAE G AR 2 23 AEQIBA AEl 8 M16x1,5 26 3 20 15 13,5 4 27 155 6 8 5
K1839.13101611 C LEARAE 21 ARF 2 23 AEQIBA AEl 10 M16x1,5 26 3 20 15 135 4 27 155 6 10 5
K1839.4030891 D &g A& 3 8 - 310 6 - 427 5 - - 5
K1839.4040891 D of = & AE 4 8 - 310 6 - 427 5 - - 5
K1839.4050891 D of = & AES 5 8 - 310 6 - 427 6 - - 5
K1839.4061091 D o g AR 6 10 - 311 7 - 427 7 - - 5
K1839.4081391 D of =& AE 8 13,5 - 314 95 - 427 95 - - 5
K1839.4101791 D o &t AEl 10 17 - 316115 - 4 27115 - - 5
K1839.14030891 D oH& g AEQlEA A 3 8 - 310 6 - 427 5 - - 5
K1839.14040891 D o gt AEQIEA A 4 8 - 310 6 - 427 5 - - 5
K1839.14050891 D of = & AEQIHA AE 5 8 - 310 6 - 427 6 - - 5
K1839.14061091 D &g AE|QlEIA AR 6 10 - 311 7 - 427 7T - - 5
K1839.14081391 D of = & AEQIBA AE 8 13,5 - 31495 - 427 95 - - 5
K1839.14101791 D o & AHQIBIA AR 10 17 - 316115 - 427115 - - 5

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com  4/4



